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Compute the double integral
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Problem 2 [10pt]. Find the volume of the region enclosed by z = 4 —y* and 2 v g \or
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problem 3 [10pt]. Let W be the region in thi‘irgtﬂ octant
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“Problem 4 [10pt]. A space station is designed as a sphere of radius 5 km with a cylinder of
radius 3 km removed from the center of it. > \( ? X (/3 >/ 7
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iy <y = 1 where x, y, and z are o \
The heat density in the air in the space station is given by 6 (z,y,2) =

e al amount of heat
measured in km, with (0,0,0) located at the center of the sphere. Compute ﬂllle tota. Znils okl
in the air inside the space station. Hint: In cylindrical coordinates (6,7, z), the regio 5
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and z are bounded by constants and the bound for 7 depends on z. This should help to determine the
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